RT: 0.00 -

25.00 sM: 5B

100 1166 11.94 S4a NL:2.74E8
3 12.81 TIM,natural TIC F: MS
. I tc_281011_natcomp1_20
50 18.33 ul
1 1.82 21.76 22.83
0 852 NL: 8.45E6
1003 SIM at m/2382, natural m/z= 381.50-382.50 F:
= MS
50; tc_281011_natcomp1_20
od1:24 262  5.20 8.24_ 1118 12.81 1448 18.33 20.90 2302 Ul
100— 11.82 NL: 3.37E8
] 11.96 TIM,synthetic TIC F: MS
E 11.69 tc_281011_syntheticcom
507 p1_125ng__ul_5ul
40.15 255 356 21.16 22.85
100 853 NL: 5.07E7
E SIM at m/z382, synthetic m/sz= 381.50-382.50 F:
50? tc_281011_syntheticcom
o260 355 512 7.71 10.99 1455 16.67 19.98 21.15 23.09 P1_125ng_ul_5ul
tooq 2P0 5 TE F. MS
3 11.65 i :
E ﬂ \*dﬂ TIM.spike tc_281011_spikenat&synt
50 J 853 ‘1‘1~,4,8,,h\1 heticcomp 1
3 2.3 /| 299 5.70 3 ./ 1~ 1260 1518 1847 2001 21.73
1oo” 853 —NL:2.13E7
3 SIM at m/z382, spike m/z: 381.50-382.50 F:
50? tc__28101 1_spikenat&synt
= 2.56 6.66 822 11.14 1506 18.43 20.00 23.13  heticcomp1
T T T T T T T T T T T T T T T T T T
) 5 10 15 20

Time (min)


art
Typewritten Text
S4a


tc_281011 natcomp1 20u #712 RT: 852 AV:1 SB: 1027 9.09-16.22,3.42-8.36 NL: 8.74E6

T:+cESIFullms [100.00-600.00] S4b
38192

8500000
8000000 1 OH m/z382=M+18
7500000 O/\)\/\/X\com l
O .
7000000 Ho$\7 MW=364 syntheticdhas#18

6500000

8000000 m/z365=M+1

$500000

) |

365.15

$000000

=
E 4500000
s

E 4000000

3500000

3000000

2500000

2000000

1500000

1000000

44
500000 23517 30038 4430

15122 17434 Jes2e 12.1_215 304.12 . ul 42818 22892 487.13 52788 57130

03— ety e e T
100 150 200 250 300 350 400 450 500 550 600
m/z



art
Typewritten Text
S4b


[rel]
1

S4c

11

3 1
2 ~COOH

A

[ppm]

N~


art
Typewritten Text
S4c


O

S4d

" Red: Synthetic
Blue: Natural:

AT o B8

B Green: Spike

|

C O

-y
-

st

F1 [ppm]

T
2

4.5 4.0

3.5

3.0

2.5

2.0

T

T
F2 [ppm]

[ *166)

T
40



art
Typewritten Text
S4d


MUMJC

[wdd] 14 0C ST € <€ 0t S

o b e b b by b b b

bl L W

+ s 2

b4 KN

$x @ L0

-
s = r
B § L

2
L
2.0

= * L
= : .
; L
25 ~N
Lo
o0
iy r
Bkt =g (=i -
w @ o
. , 5
s <R I
% o | L
% W Lo
&8 = 8 %
|
L in
Lol

s&WM


art
Typewritten Text
S4e

art
Typewritten Text




art
Typewritten Text
S4f


2a,2b

2/3 -

&=
P

T
F1 [ppm]

T
36

38

"l |}
34 M-

1M

2.0 1.5 F2 [ppm]


art
Typewritten Text
S4g


"a,41b

7?

4/:1 :

617 -

F1 [ppm]

36

25 P

B
1.5 F2 [ppm]

39 38 g

4.0


art
Typewritten Text
S4h


3’

S4i

(43 123 9P
| N T NN TR (N SR S S |
rE
-3
L e
~N
[
- ©
[ag) "o
=~
—r |
,,r‘.\\ lsw
L]
L2
<
Lo
<
\« N
@] o I
-5 'e) = [
] - N
o
7o}
~ 0
T
L@
<
i )
il
- §



art
Typewritten Text
S4i

art
Typewritten Text




